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Fiber 1013, dchi2frac= nan
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Fiber 1020, dchi2frac= nan
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Fiber 1024, dchi2frac= nan
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Fiber 1028, dchi2frac= nan

20
12.00
15 -
11.75
10 -
11.50
5 .
11.25
(X 1)
0 - P,
3N 11.00
..d.
_5 . .
10.75
—10 1 10.50
—15 - 10.25
-20 : : : : : 10.00

-20 -15 -10 -5 0 5 10 15 20



Fiber 1031, dchi2frac= nan
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Fiber 1034, dchi2frac= nan
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Fiber 1081, dchi2frac= nan
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Fiber 1104, dchi2frac= nan
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Fiber 1105, dchi2frac= nan
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Fiber 1117, dchi2frac= nan
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Fiber 1127, dchi2frac= nan
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Fiber 1162, dchi2frac= nan
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Fiber 1163, dchi2frac= nan
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Fiber 1167, dchi2frac= nan
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Fiber 1168, dchi2frac= nan
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Fiber 1169, dchi2frac= nan
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Fiber 1195, dchi2frac= nan
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Fiber 1199, dchi2frac= nan
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Fiber 1211, dchi2frac= nan
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Fiber 1212, dchi2frac= nan
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Fiber 1216, dchi2frac= nan
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Fiber 1219, dchi2frac= nan
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Fiber 1227, dchi2frac= nan
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Fiber 1242, dchi2frac= nan
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Fiber 1253, dchi2frac= nan
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Fiber 1254, dchi2frac= nan
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Fiber 1256, dchi2frac= nan
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Fiber 1259, dchi2frac= nan
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Fiber 1260, dchi2frac= nan
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Fiber 1267, dchi2frac= nan

20

15

10

-10

-15

-20

-20

-15 -10

12.0

11.5

11.0

10.5



20
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Fiber 1303, dchi2frac= nan
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Fiber 1351, dchi2frac= nan
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Fiber 1359, dchi2frac= nan
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Fiber 1374, dchi2frac= nan
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Fiber 1386, dchi2frac= nan
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Fiber 1387, dchi2frac= nan
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Fiber 1389, dchi2frac= nan

15 A

10 -

_10 .

_15 -

-20

-20

10

15

20

12.0

11.5

11.0

10.5



- Fiber 1390, dchi2frac= nan

12.5
15 -
10 - 12.0
5 .
° 00,
e %
11.5
o- )
o00®
_5 .
11.0
_10 _
_15 .
10.5
_20 T T T T T

-20 -15 -10 -5 0 5 10 15 20



Fiber 1396, dchi2frac= nan
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Fiber 1402, dchi2frac= nan
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Fiber 1403, dchi2frac= nan
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Fiber 4926, dchi2frac= 0.9
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Fiber 4956, dchi2frac= 1.0
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Fiber 4968, dchi2frac= 1.0
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Fiber 4978, dchi2frac= 1.0
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Fiber 4982, dchi2frac= 1.0
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Fiber 4983, dchi2frac= 1.0
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Fiber 4984, dchi2frac= 1.0
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Fiber 4987, dchi2frac= 1.0
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